EARAROBREBRT —5 XN—ZXBISH—F

20211888 (X)) 170&&E1H

(LM C 3 148 YSFR—H% EEEE IR
[xE%] 1%&:350,000H  2&:116,000M  3#&:70,000H  43%&:46,000H  53&:32,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
_3y o 4 3 | [EERE 57.3 1-1 37.4| - 1 48 | BIB—A (BEE)
115/ 6| Ib—Y2TEXR 54.0 <) (16) | PREA
R:O—RAHFO7 B:RDTA SRy /N— #HE77—LA
ERTEYETN s 3 | DOEEFUE 57.8 4-3 37.7| - 2 | 584 |WMEEX (BEE)
2(8|12| AV YRYT 5.0 Q1) o | PEET
RIVIRI—ZZRY— B:O—-UVRED s BH&
) =) [ —" 4% 3 | BAEB 58.3 2-2 38.2| — 3 454 | EER (BEE)
3 3| =YL=V L=V 54.0 2172 () | AEBEEE
RPRIAVL—Y B:RRAT—UY AREBT 7 —Ls
~ )0 ~ t 3 | ALR— 58.7 6-4 38.0| - 7 188 | FEBS (BEE)
4|8l AINUT7IVL—=2 ! 54.0 %) © | (B JP N
R RIAVL—Y B:ARZIO—T S—L— - VNV - Tr—LERE
S~ - A ) - 3| - HEE (BEE)
5 § | THRFYF v i3 s (1591/02) 3-5 38.3 9 (3_638) e i
RiANWTz—II BT FvY7 BRBUS
= ~ B3 | RFRIAER 59.1 9-8 38.0 — 6 | 44 |MZTBEE (REE)
617110/ T/ TLEOAY 540 ) () |MEESE
RVIWN—RTF—hk 8:7—2RU(¥—R J0-U—77—L
= - s 3 | MEE= 59.1 7-7 38.3| - 5 | 462 |EER (BEE)
70 7 | AT FT 77— 54.0 0P 4y | ATARU=L @)
R:YYRUZURIR B:¥ARMIVIV BRKS
°__ ~ = 4 3 | RESE 59.2 10-12 38.0 - 4 516 | HEHRIE (BEE)
8 1|1 (E-AVvUIUF 5.0 (3/4) @y | @ IP—ZREVIY
RNRMOD B:A—YvILTa— BAKIS
=7 /)= f 3 | XIS 59.5 12-10 [37.9| - 10 | 424 |B|REEX (BEE)
9 4| =AN=T« 54.0 (1172 (3 |WAR
RN=FUN=F1 B:U—FIT+—FL—V FREYS
. o3 | MRS 59.6 8-6 38.8| — 8 | 487 |BUB—F (BEHE)
10/5|5|7+70 5.0 (1172 () |HrmE
RiT=ILRYY T BRARIZART—)L EvIUy RI7—LA
3~ S~ st 3 | FPE 59.6 5-9 8.5 — 12 | 367 |BMEEX (&R
111719 TAIVIT3Y 54.0 (1) ) |FEA
R:IAyv7ROY B:IAIVIILTUT RERIS
» b 3 | LUE## 59.7 1n-1 38.3| — 1 167 | BTIE—8 (ZER)
12 2 | O—XIVILRAX ! 54.0 @B (-) WOERSZ R ()
R:UAVF(—R #:0C8v bhRE2S BEXERS
@ 11— —®BIEfI
13—7+—
20—7F—
30—7— 6,3,8,12,9,11,7,5,10,1,2,4
43—F— 6,3,12,11,8,5,7,10,9,4,2,1
o ILRE
B B 6 1804 AR 6-12 130M % 3= 5-8 160MH 3EE 3-6-12 570M4
7B B 6 100/ 3-6 260 5 & 6-12 1304 3EH 6-12-3 1,560M4
12 1004 3-12 2804 B8 6-12 260
3 140M4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




